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01 = LH YI 23,040 23,040 0
OYHHEEXSH ZF0HH|
160,000& =12 128 23,040
203 YR =&t 10,080 10,080 0
01 JI122H =& 6,600 6,600 0
OJZ2YYLFTI(HE) 6,600,000& x1H 6,600
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2N B
o 240 AQATH(LBTIUT/AHE)
el BN EES CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFUXXHMH Z208 29 MEdl
20,000& 20 400
301 et 8= 1,450 1,000 450
09 SALAHIEA S 1,450 1,000 450
OZZANHMZZ F&I 24 1,000, 000& 1,000
OS&FoANIISIAS Hst 24
30,000 15 *13] 450
307 21201 A 14,000 14,000 0
04 QIZFHALAIH B = 14,000 14,000 0
o889 HM=ds 6,000,000 6,000
OCHEUEE A 1,000, 000& 1,000
O2YEME A 7,000,000& 7,000
NEMLAL(FEL XN AMNL/NAL Al 171,000 191,000 220,000
22 XNGAS 171,000 191,000 220,000
FOEHAALY 171,000 191,000 220,000
401 Al HIZ 201 8] 171,000 191,000 A20,000
01 A& HI 170,000 190,000 220,000
OAE Holl Ol ZAL 25,000,000 *20H 2~ 50,000
OMS0tE 8ti=2 &Y 30,000,000 =14l 30,000
OdsSE Eti=2 FHI 30,000,000& =14 30,000
OAMElE s2 M4 20,000,000& =14 20,000
O&AEIE sE 2FME
20,000,000& =14 20,000
ONOIE MS s8& 23
20,000,000& =14 20,000
03 AlE SR THHI 1,000 1,000 0
OFQUHEHAALY 20HYI 1,000, 000& 1,000




N = 0 &8 AFH Y & A AN
25 28H
M. HHSHBH(2FH)(IIEH/IIE
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
=259 392,565 578,155 A 185,590
HHSAHU(2FH)(IIEH/IIE 95,384 107,756 N 12,372
Jl2& bl 95,384 107,756 N 12,372
Jl2&Hl 95,384 107,756 N 12,372
201 et A | 62,264 74,636 N 12,372
01 AFR2t2l Yl 15,312 13,826 1,486
Ogt2H| 10,704
— MEESHI 250,000& x12& 3,000
—TEH & A ADEH 300,000& x12& 3,600
—NEIR=sE 200,000& x12& 2,400
—ALI|dES 66, 100& *12& 794
— A OOA AU LY AAI HA
130, 000& *7CH 910
O=2 &l 8,000& x12Y 44| x12& 4,608
02 3524l 46,952 60,810 AN 13,858
O332= % HA 24,640
— 3 A dDlE 550,000& x12& 6,600
28 IS (sEII2E)
3,000 *380S * 102 +7,000& *x380S x2 & 16,720
—SEHS ¢33 100,000& = 12& 1,200
— S FNRE S 120
Xk & 30, 000& x2CH *x23] 120
OHZ bl 5,472
== 1,800& %324 *952! 5,472
OA& &l S XYl 9,840
— H AR Xl H| 3,500& =497 m 1,740
—3E2SE MESRXYI 500,000& *43] 2,000
—otHE A RS 6,100
=g 2,000& *3504 700
a8 1,800& *3,0004 5,400
O Xt &k Bty 7,000
— 2832 2,500,000& *2CH 5,000
— 958 SN 2,000,000& =1CH 2,000
202 04 b 23,040 23,040 0
01 2LHOHI 23,040 23,040 0
OLHHITAN2H F=A0OH|
160,000& x12H = 12& 23,040
203 ¥R =&AH| 10,080 10,080 0
01 J229 P RE=XY| 6,600 6,600 0
OJAR2HEYLLFN(HE) 6,600,000& x1H 6,600
02 3ROt E R =AY 480 480 0




2N

=2
HH: HH2IHH(ZFH)(IIEH/DIE

g2l Dl

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OFRI 0 e 22 (5 2100210151
40,000 12X 480
04 EASHEYRFAH| 3,000 3,000 0
OFH2YYREH (B2 152015
250,000& x12& 3,000
250 A AL (L2 2N /AL A) 116,181 97,883 18,298
HYEXH & 86,710 79,260 7,450
olBt&E & =X & 57,260 57,260 0]
301 et A= 57,260 57,260 0
0 SHE -0 -BHEEESEMN= 57,260 57,260 0
O ¢ 200,000 x 17 «12& 40,800
O0l& A2 200,000 x17H x23| 6,800
O0lH oA == 20,000& *17H*23|x12& 8,160
OBtE ¢t 50,000 30X 1,500
F0IE A& 29,450 22,000 7,450
201 LBt Y| 6,600 0 6,600
01 AP 22| d| 6,600 0 6,600
o249sd 4,200
~ FURXSAE 2+
70,000& 15 43| 4,200
OoYxtz 1,000
~SAFUNKIAE A3 Y AXE
1,000,000 13| 1,000
Ogbt4=24| 1,400
— FOXNXNFARS T ARG
70,000& 20 1,400
202 o4 | 2,000 2,000 0
01 2L Y| 2,000 2,000 0
OFQHHAL U ADSILAIM ST O
20,000& x4 25 2,000
203 € R F=&d| 2,600 2,600 0
03 AIZH =X 2= XY 2,600 2,600 0
OUMHME BOAS AREX
20,000& *102 133/ 2,600
204 224 A H| 2,400 2,400 0
03 SEHYRAH| 2,400 2,400 0
ONMSREY 223 =4l 100,000 x2H «12& 2,400
206 M = Hl 400 0 400
01 =4l 400 0 400
O XXHYH T2 249 HaHl
20,000& 20 400




2N =2F7H

o 2RO AQATH(LBSIUT/ABHE)
ohelr XA BE (S5 &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et d = 1,450 1,000 450
09 HALAHIEA S 1,450 1,000 450
OZZANHMZZ F&I 24 1,000, 000& 1,000
OSL&FOARNIISAAS At 24
30,000 15 *13] 450
307 glz2+ol & 14,000 14,000 0
04 QIZFHALAIH B = 14,000 14,000 0
O8Y% M=dzs 6,000,000 6,000
OHEUEE A 1,000, 000& 1,000
OSYEME A 7,000,000 7,000
S 3 AlEetel 29,471 18,623 10,848
S3 A&zt 5,957 3,412 2,545
101 14l 5,957 3,412 2,545
04 JI2ZtHZ22HEE =+ 5,957 3,412 2,545
OFHA 22X 2ee2y 60,2403 x3H 30 5,422
O4lf 2= 5,422 ,000& x0.0985 535
FH =28 29 23,514 15,211 8,303
101 @124 dl 12,574 5,971 6,603
04 JIZHHZ2XREES 12,574 5,971 6,603
O2r=sY 2olowy
60,2403« 1H*19 «10& 11,446
o4t 2= 11,446,000& =0.0985 1,128
201 Let2d] 10,940 7,240 3,700
01 At 22l 3,600 2,400 1,200
O=F==28 2234l 300,000& 122 3,600
02 =224l 7,340 4,840 2,500
O2F=EE ®MIIKs 70,000 x12& 840
O=zF=s8 a2l 650,000 102 6,500
NEHLAML (RELRGNL/XNAL Al 181,000 372,516 A 191,516
A2 XNGAS 181,000 372,516 A 191,516
FOEHAALY 181,000 372,516 A 191,516
401 AIEHI L 2 CHYI 181,000 372,516 A 191,516
01 A& HI 180,000 370,000 190,000
OAL7 2 Moo 25,000,000 *20H 2~ 50,000
Oogsits =2 3| 30,000,000 =14l 30,000
Otsie s2 &x& 15,000, 000& 14 15,000
OAE 3= =23l 25,000,000 =14l 25,000
OotyitE =2 E= 20,000,000& =14 20,000
OO0tE 0= =2 I 10,000,000 =14 10,000




SN 2R
HE: NANLAL (RELT ML /KL Al
Eelr A7 2 XNGAY
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OLgle =g 23N 30,000,000& =14 30,000
03 A& =2 THHI 1,000 2,516 A 1,516
1,000

1,000,000&




N & O & & F A
Sz
HH2HZH (S2H)(IIEHIIE)
Jl2&dl )
CB SR (B) - KIRAY - BES Ol &+ o4 SSa HmEET
412,021 351,244 60,777
2 (|=9)(JIEH/IIEH) 89,021 95,694 26,673
24l 89,021 95,694 A6,673
224l 89,021 95,694 A6,673
201 L2l 55,901 62,574 NB,673
01 At 22l 14,688 14,452 236
Ogt=&H| 10,080
—EAe8 225 7Y
40,0003 x10&5+128 4,800
& A2FE 7Y 200,000& »12& 2,400
—dIItEEH 22 100, 000& 12l 100
—dE F2=EZ 500, 000& *43] 2,000
—d=J| Xz S 65,000& 123 780
O= &l 8,000 «12F x4 A« 123 4,608
02 3322l 41,213 48,122 26,909
02322 %2 HA 22,740
—&EA &IIg 600,000& »12& 7,200
—JI2S MIEB(sEIINRE)
3,000 *320S *10& 17,0003 x320S 2 & 14,080
— XS TtHAl 130, 0002 »2CH 260
—REES L52= 100,000& =128 1,200
OdzHl 5,472
== 1,800& %324 *95¢& 5,472
OA&EHl Xl 8,501
— A= X 3,500 686 m 2,401
—olAYARIU 6,100
Y= 2,000& +3504 700
2= 1,800& *3,0004 5,400
OXtg & et 4,500
= 2,500,000 = 1CH 2,500
— 858 S 2,000,000% = 1CH 2,000
202 oddl 23,040 23,040 0
01 = LH o4 1l 23,040 23,040 0
OLHAFXA2Y =N
160,000& 12 «12& 23,040
203 Y2 E X Y| 10,080 10,080 0
01 JI22g YR =aH 6,600 6,600 0
QI Z2HYRFL(HE) 6,600,000& x1H 6,600
02 33 H 2= 480 480 0
OFINEER2FX(F A 100210l 6H)
40,000& x12H 480
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